5rect(3t — 6)@?
rect(t)@sinc(f)
Linearity: Srect(t)ASSinc( f )
Time Shifting: Srect(t — 6)@55inc( f ) o127 S
Time Scaling: 5rect(3t— 6)@(1 / 3)>< 58inc(f/3)e—1127rf/3
5rect(3t — 6)@(5 / 3)sinc(f / 3) e /4



Time Scaling: 5rect(3t)
Time Scaling;: 5rect(3(t 2))

From the previous slide
5rect(3t 6) (5 / 3)smc(f / 3) —jAnf
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Srect( ))

rect (t) A smc( )
Linearity: Srect (z‘) «—~Z—5sinc ( )

Time Scaling: Srect( t)%(5/3)smc(f/3)

S

Time Shifting: 5rect( ))% 5/ 3 smc( f/ 3)e‘112”f



Linearity:
f,=100 =
OR

Time Scaling:

10cos (2007t )«—Z—?
cos(znﬁ)z)@(l/z)[cS(f—f0)+5(f+foﬂ

10cos(27 fjt) L5 8(f = £,)+ (1 + 1) ]

10c0s(2007t )2 5| 8( £ —100)+8( £ +100) |

10cos(2m)<és[ (f=1)+8(r+1)]
10cos(2007t)«—Z—(5/100)| 5( £ /100—1)+5( £ /100+1) |
10cos(2007¢) ~Z—(1/20)| 5((1/100) £ =100+ 5((1/100) £ +100) |

Impulse Scaling Property:  10cos(2007)«—Z—(100/20)| 5( f —100)+8( £ +100)



4sinc(¢/20)#3tri(2¢) L2

smc( )%rect(f)

4sinc( )%4rect(f)

4sinc(¢/20)«Z—80rect(80f) , 3tri(2¢)«Z—

y(t)=—X(1)¥(/)
2t %80rect(80f)(3/2)smc (f/2)
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2t )L —120rect 80a)/27t)s1nc ((a)/27r) )

(40 /T )smc2 (a) / 477:)



f+10)=8(f -10) |#8sinc(6 1)
5(7+4)-8(r-1)]
f+10)-8(f-10)]

sm(277:ft)%(]/2)

Linearity, f,=10: 3Os1n(2077:t)% jl [

30sin(207¢)(4/3)rect(¢/ 6)¢—L— j15| 5( f +10)-5( f ~10) | *8sinc(6 1)
5(f-10) |8sinc(6 )
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